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Slllcon thickness vs MPV

Silicon thickness vs MPV
Errors of the point is 00—

error MPV which | -
fitted histogram of ™
MPV with Gaus.
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- Whenyis O, the x is
Inactive thickness.
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- As a result, -
inactive thickness is  _sole
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Hamamatsu say that inactive thickness is proportional to silicon thickness

and quarter of thickne?;s.s Is inactive thickness.



Measure 20Sr
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0Sr (update)

k1:650 um p3:320 um
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. N5r is beta radiation. Maximum energy is 0.546 MeV. So, the beta radiation drops
like MIP energy.

. | calculated weighted mean on blue region. (Weighted mean = (ADC x initialized
#channel)/ ADC)

. Is the 650 um silicon sensor is full depression on 150 V 7

- The peak of 320 um is correct maybe.
| estimated with peak of cosmic. The peak of 90Sr is about 83.



Estimate MIP position on
ADC with 2/Co and '33Ba

. FIt peak with
Gaussian
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. Create plot which appear linearity §‘°§
. Estimate MIP position on ADC :
. 320 um (86.8 keV) °
650 um (176.4 keV) £

B 515 "Co®D 12 keV & "WBa® 136 keV ¥—2 i 70y LT, —XBH T
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Result
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Green line is result of cosmic.

So, the result can’t estimate MIP of cosmic on 650 um

Estimation by Co
and Ba

Result by cosmic

145 Why ?

68 ~ 69

156 ~ 101




